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Cnnmerkimca; Metric Units

Task To convert ,Frnm 4rams to Jeilﬂqr,am/s.

The metric /sxffxstzm is wsed to measure the lznq{th, K;z;% ti‘P'S:

wziqht or vokume ,O/F an 0b}znt. |OOng = kx}

LGgth is measured in millimetres (mm). Lentimelres To convert /fnom q to Jex}, divide bA{f
(cm). metres (m) or kilometres (km). 1 000.

Mass is measured in 4roms (q) and Jeilﬂ,qram/s (Jeq). T o convert /From Jeqf to q. multipw bAi

Volume is measured in millilitres (ml) and litres (U 1 000.

T,odmj we are x},oinx} to 4:,05“/5 on Mass

Task |: Task 2:

Write each mass in kilograms.

Write each mass in groms.

1. 20g . 00lkg
2. 509 . 006kg
. 003kg
. 02 kg
. 09%kg
. 08kg

Greater szth:
A /Footba“ wziqh O.I-I—Jeqf.
Three /Footba“/s wzix}h the same as 8 cricket halls.

How many grams does a cricket hall wziht?
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Pnztr Watch this BBC Bitesize dip to
m‘—byw Thisis an example /find ouk abouk rh%minq poemA:
of Coup|et5, Jnttpxs://www.bbz.f_c.uk/bitzéizz/tc
There was an Old Man who supposed, / Where two lines pics/ 2 mmn3Y articles/28342nh
That the street door was partially closec; rhyme and often
But some very large rots, — have the same Poems can be about
Ate his coats and his hats, rhythmic structure an%thinz} - a thﬁuqfht, an

While the futile old gentleman ¢ emokion, a skony. Rhyming
The |abberwocky, by Lewis Carroll

poems have simikar

This is an example
of an ABAB rhyﬁle /smundinq words at the end

"Twas brillig, and the slithy toves scheme. of aline There are

Did gyre and gimble in the wabe: different types of rhyme
All mimsy were the borogoves, tisalsoanonsense | | schemes. For example. a
poem, with lots of

Louplzt poem or one L hoat
made-up words.

And the mome raths outgrabe.

/FD“,O}W/S a struckure hike

ABAB.

M Write a poem ahout a trip MOM hoanve przviomsw faken. It could he to somewhere in
London or to another plazz...Be 04 Lreakive oA MOM LAN. Y ou should wse Louplzt/s or an ABAB
pattzrn. It is a ,%,0,0d idea to write a drwft version, which MOM £O1 then PrﬂﬂFfZad and edit,
bZ/J:ﬂrz writian MO /ﬁinal poem. The /Fﬂllﬂwin,% Pizturz/s are z;xamplz/s mf Pizturz&q/uz Plxmzxs

MOM LON M2 /me in/spiratian.



https://www.bbc.co.uk/bitesize/topics/z4mmn39/articles/z83g2nb
https://www.bbc.co.uk/bitesize/topics/z4mmn39/articles/z83g2nb
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Fact and O.Pininn

In the p,a.mqm.ph/s below, some sentences are ,Fa,ct and some are upininn.
Task: Hithiqht the sentences that are /Fxmt/s in one colour and Upiniﬁn/s in another colour.

Remember a /Fa,ct A /sxjmzthinq{ MOM krnow is true and can he Prmvzd. An ﬁpiniun s /s,omzthinq(

MOM think or helieve to be true which can’t he Prm\fzd.

|. "This has to be the most zxﬁitinq g.0ome D/F /Fmotbau that ['ve enver seen so far. David
Beckham is 2(1/511/\4 the hest plm}zr on the pitzh. He has scored /Fil\/z qaalxs A0 /Far this

seoson. | think he'll sacore a lot more.”

2. Tomorrow is an impﬂrtant dm} /Fcr the pop group, BQA{I/SRU/S. TJf‘ue/\jf rekease their third /sinqlz
fomorrow. | heir Last two /sinqlzxs hane gone /straigrht into the charts at numher one. This new
/singflz, howener, is an aw@ul miux DIF pop and hlues music. It s not as qfﬂﬂd as the pmr\/i,o/u/s
fwo hits. It Lzrtainw looks to me kike BDA}/&RUA should ask fpor their dmﬁ }ﬂb hack at the
tm%/shop.

3. Bm{;1 the new Supzr Clean bathroom cleaner. I1ll Leave MOMS hathroom ﬁparklinq clean! Supzr
Clean wses a mixture off A0.00 and bleach which attacks dust and qrimz. You won't be able to

belizvz Aﬁ,OA,U’ ZAiZ/S A)Jh,@ﬂ Aﬂ,,Olu HRR AHJ"I,(lt SMP,@I Clzan Lan JdD épﬁf AiDM. Onw € ‘ qq po bﬂttl,@
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S.PAG - Cnmmms

Adding a comma can cha.nqz the meaning of a

Aenkence.

® | oi's eat Joel = We're x}ainx} to eat Joel

® | ot's eat Joel = We're zﬂtinq with Joel.

Ina lonq Aenkence. you AN MAE LOMMAA ko
/szpamtz extra infarmntian and make the
sentence eosier to read. These commas do the
same joh as brackets.
® Helen (tan alien with blue /spot/s) A
4:rum the Planzt /oink.

® Helen, the alien with blue /SP,Ot/S. iAa /Fr,om

the Planzt /oink.

A clause is the buildint} block /Fﬁr a Aenfence.
Commas can he used ko hreak up Aentences
that have more than one clause and make them

eosier ko read.

® When Matteo saw the /F,ood, his tumm%

started to rumble.

Matteo qfﬂt uwsed o the blue /spﬂt/s, but
then tanAﬁ started itphlng{.

Both sentences have a suhordinate clavse.
Subordinate clauses do not make sense on
their own. These clauses need the main Part o/f
the sentence to make sense, so tJ’IZAj oare

connected with a comma.

Task |: Edit the fuﬂowinx} sentences to include commas in the correct Phu:z:

. When the liqhtninq WS incmdibw briqht pzmplz were scored.

Let's plm} /Fﬂotbal“' shouted Y asin as he came into the pla/\jgrrcund.

As the Km}lin Fatiah Melissa and N%lah sat round the Lﬂmpfiw zatian smores the

hear hid in the bushes.

Tt's time to line up Emil" Amelia and Azra shouted across the le}x}rﬂund.

Task 2: Use commas to qivz the two sentences ,difppzrznt mzaninq/s:

As the sun shone brigf}'\t red Pzaplz moved into the shade.

As the sun shone brigf}'\t red Pzaplz monved into the shade.

A/thr we lmft Grandma Dad and [ went to the cinema.
A/thr we J\ZIFt Grandma Dad and I went to the cinema.

The bm\j said the teacher was nDi/SA}(.
The bm\j said the teacher was nDi/SA}(.
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Time

— K

J‘//';‘he time taken to complete
/_ 1 orbit is how long a planet

\/_ takes to travel once around —

\ the sun. / —
—<_ NG /t — .f';\- )

—_—

Planet Distance from the Time taken to
Sun complete 1 orbit

Mercury 58 million km 88 days
Venus 108 million km 2285 days
Earth 150 million km 365 days
Mars 228 million km 687 days

How many weeks does each planet take to complete 1 orbit of the Sun?

Task 2:

Give MOMY Ansmwer in weeks and ,dmjzs:
a 16 da%/s =

h. 3l da%/s -

. 198 da%/s =

4. 500 dm\j/s =

Task 3
Give MOMY answer in Aaxjﬁ:

a v weeks and | da% =

h 10 weeks and 5 dxw(/s =
. 23 weeks and 6 dakj/s =
A4 123 weeks and djcu%/s -

Greater szth:
Sarah Plantzd some seeds. | he seeds took |2 dmj/s to A}zrminatz. A/J:tzr another 53 dm}/s,

Stzphaniz hoarvested her %ir/st crop. To the nearest week, how lﬂnq wftzr plantinq the seeds

were the Plant/s rzad)\j fo harvest?

Tnp tLP/S:

® [urn weeks into dﬂk}/‘i bAj m}ultiplwan bAj /. ng, 3 weeks = 3x/ = 21 dmj/s.

® When rmundingf to the nearest week, i/i: MOM have 1.2 0r 3 dmﬁx&. round down. LF MOM
hove 4.5 or 6 dﬂ%é, then round up. ng b weeks 3 dxw/s woukd round down to b weeks
hut  weeks da%/s woukd round up fo O weeks.




